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All answers should be written on the ANSWER SHEET.

G 45
Section A — each question carries 4 marks

1)

2)

3)

4)

5)

6)

7)

A IEEEHI T A IER B FIFIATEy 4035 © SREZBHYEARME -
If the sum of a positive integer and the sum of its positive divisors is 4035, find the largest value of the
number.

EXETE mxallf » Ho R a BUE SR+ (AT E 0L - WS Z ZZRYRRE R 50 » K m #Y{E -
It is given that, when finding the value of mxa, if a is rounded to the nearest tenth and hundredth, the
maximum difference between two products is 50. Find the value of m.

Fx yczfrE MYITRESE > Kx+y+zBMH -

If x, y and z satisfy the following system of equations, find the value of x+y+z.

BZ/VETTERATA 4 irarBrhEd 4 (8 EEEMAARy 10001 7
How many ways are there to choose 4 numbers from all 4-digit odd numbers such that their sum is
10001?

B x il y B9 203 +17y =2017 > Horh— 6 FRSBREEAARL (x, ) = (100,1) « SREZITRZHN AR
AR -

For the equation 20x+17y=2017 about x and y, one trivial pair of positive integral solution is

(x,»)=(100,1). Find the number of pairs of positive integral solutions to the equation.

6 ' » ABCDEFGH Jy1E )\ » H AFJE RyFB =/ > HENA LGID=x° > KxJfH -
In Figure 6, ABCDEFGH is a regular octagon and AFJE is an equilateral triangle. If reflex £GJD = x°,
find the value of x.
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7 > ABC ZH% - ABCE HI1AABD ZHB =T - 35 ZDCB=22° H ZAEB=x° » K x {NfH -
In Figure 7, ABC is a straight line. ABCE and AABD are equilateral triangles. If ZDCB =22° and
ZAEB = x°, find the value of x.
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All answers should be written on the ANSWER SHEET.

8) 8 §1 > AB// CD ~ BD = AC - 75 AABE 1 ACDE fHITESY B2 8 F1 18 © 3K AACE f I -
In Figure 8, AB // CD and BD = AC. If the areas of AABE and ACDE are 8 and 18 respectively, find

the area of AACE.
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Figure 8

~ 5 ~
~ End of Section A ~

FHLEGPAHEE R - Gt BERET R F 2R - HERBE S EEGE 08 S0kt RS RN -
EFEADIRAFRTR - MEZIRA VAR o BREFAEEESN - IBRRES HAL - SEEREEALRA G TAEAI %L -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,

decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.
Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.

2B -

S 7y

Section B — each question carries 5 marks

9)

10)

11)

12)

13)

14)

15)

KELTHEHE -
Find the value of the following expression.
3*+8°+13% +18% +...+98’

EF=AE Al —FE28 - HE RIVANHE A% = APIRRE Kz =APHR &S
Bl A=A R KL ©

It is given that the three angles of a triangle form an arithmetic sequence and the opposite side of the
second largest angle is the shortest side of the triangle. Find the greatest ratio of the longest side of the
triangle to the shortest side.

Fx -y IR xy-x+y=6 > Kx+y EmAHE -

If x and y are integers and xy —x+y =6, the largest value of x+y.

45 2018x FREL 2016 HYBREURy 44 > 2K x HYf/ NEFEEH -
If the remainder of 2018x divided by 2016 is 44, find the smallest positive integral value of x.

PUNFEAG T - 4~ C~ FIR—LIERE B~ D~ E R—(IIFRRE - KILF ARV H -
In the cryptarithm below, 4, C and F are all one-digit positive integer; B, D and E are one-digit
non-negative integers. Find the number of solutions to the cryptarithm.

ola a
SIS

+
F
m [EEEE BB T ERy a » R SR8 T i NV ESHAK 960 - BlRea% By S KRB 990 - it
B & 8 75 - K a HYME -
The average of m consecutive positive integers is a. If the smallest number among these numbers is

substituted by 960, or the largest number among these numbers is substituted by 990, their average
becomes 75. Find the value of a.

TEE 15 §1 - HZ/ DA E(E 6 x 30y 78 FEEHL 3 4% - (1534 3 A& A A MAS AR A —1TE
[E]—%1] ?

In Figure 15, how many ways are there to pick 3 grids from the 6x3 grids, such that these 3 grids do
not have any two placing in the same row or column?

15
Figure 15
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All answers should be written on the ANSWER SHEET.

16) #a~b- c%?gﬁﬁzﬁf@é\(xjta)(erb)(erc)sx3+kx+6 o K Kk HYH -
If a, b and c are integers and satisfy (x+a)(x+b)(x+c)=x"+kx+ 6, find the value of k.

~ LE5E ~
~ End of Section B ~

AR AERE R - Bt EERE D HEERM - WHER /R T EEGT 8 SRt RS RN -
EERALIMRAZFOR - MEZARA AR R - FREE RIS - FREE R -SSR A G TR I8 -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.

NED - T oy
Section C — each question carries 7 marks

17)

18)

19)

20)

17 » &J7IF ABCD W& ~ FEl7r ARy 72 130 - G Ky BC LHY—EhES - 5 AG + GE B/ NATAE
{ER 90 » AE N1 DB AHZCY F - >K DF HI{H -

In Figure 17, the length and width of rectangle ABCD are 72 and 30 respectively. G is a moving point on
BC. If the smallest possible value of AG + GE is 90, AE and DB intersects at F, find the length of DF.
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Figure 17

felE 18 1 » BD:DE:EC=2:2:3 ~ F jy ACHYEL ~ G Fy BF 81 AD HYAIHE » H Ry BF BL AE HIXL
Bl o 75 AABC HNIHRA Ry 693 » >KVUES DEHG HYIHITH -

In Figure 18, BD:DE:EC=2:2:3, F is the mid-point of AC, G is the intersecting point of BF and 4D,
and H is the intersecting point of BF and AE. If the area of AABC 1is 693, find the area of quadrilateral
DEHG.
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18
Figure 18

B (y—z)+y* (z—x)+2° (x—y) BEEHARR RS —(H—RZHEAX 2 - KZ ={E—XRZHEANFAT
HHREZ T -
If x*(y—z)+y*(z—x)+z*(x—y) can be factorized as a product of three linear polynomials, find the

sum of all coefficients of these three linear polynomials.

kFld BIFEE > H kRl k+2d ¥ RMAIESE - #Ek+(k+1)+...+(k+2d) B 18 AUE%E > Kk+d HY

B/IME
k and d are positive integers while & and k+2d  are both two-digit prime numbers. If
k+(k+1)+...+(k+2d) isamultiple of 18, find the smallest value of k+d .

~ &%52 ~
~ End of Paper ~
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